B S P S B ot

e/ (R REESRBEIUVIIHEL  11010WR7

& R R B SUATHTEL
KA
1010W &%

R
W B RZDEIA, RESEMLE ST HRARL
W AERRE. FJSCIBERRRART

PR IRIRS AR, TR SN B0 SR
W &SRS

NEimA B ERIANA, RERTERINREHE NN

1

SR~
1010 ELY 1 W- [F[S

FhRt

26 : @D=40mm 45 : @D=65mm
30 : @D=48mm 55 : @D=75mm
35 : @D=55mm
¥ RNAMRIMERS (@D),

Bitee

E
1: RESFRHEREAER. e R
PR . BT 50
REAR
C : WECEEER (P G BauEk)
Ei7515
C R

L: & L
C: R

R: &

¥ FRommE EEE ORI ER A .

ERIREE

E: RE - BREEMRIAR
H: RENEBILZ
b BREERAR



e/ (R REESRBEIUIIHEL  11010WR7

(mm)
= 1010261W-CIC] 1010301W-c1 ] 1010351W-cC1 1 1010451W-c1C] 1010551W-c1C1
JexEmER cm? 5.31 7.07 9. 62 15.9 23.8
Je ZIBRE X1 mm 26 30 35 45 55
BEFEX mm 12 14 16 20 22
. e _7.64xP _11.76xP __18.18xP __35.06xP _ 64.14xP
RED GHRAARN) %2 A T 1-16 F= L—185 F= L—21 T L-245 F= L—30
FEXBRE Je XAT 10.9 16.6 25 46.9 83.2
o |REHET 8.6 13 19.8 37.7 69.8
21712 mm 20.5 23.5 26 29.5 35
FZiTIE mm 17.5 20.5 23 26.5 32
ITEEE mm 3 3 3 3 3
RefERES MPa 7
RIRENMEETI%3 MPa 0.5
it & MPa 10.5
EEEASE MPa 0.170.2
HEEES AR 1 SA3-G (SMC# &) /GPS3~E (CKDEI )
FREE ‘C 0770
{5 FA A T T | SORLEE 4R Y 1 SO-VG-32 —RRRE S
FE x4 B 5212 \Het 0.8 1.2 1.6 2.7 3.8
ke Bz w 0.7 1.1 1.6 2.7 3.8
ERHTOE 1 RENARTNIERNEEIEEMEIH . SRR LA,
¥ 2 EREIPEARX T, FRET N o PoAbgE (MPa) o L:i& ZE b 2 9 55 R B (mm) o
¥ 3. RORTET R S R B NE R AR T
X A BERRR BRSNS A E .

R K E

ERES

LJE
FiRES () 1010 1 W- [d [d [5]
RlJ

P LAE (MPa) H 4R

;{4 FI1010301WHT,
HELE Il 5. OMPay FEAR K FEL=40mmitf, J&'& S1Z1°4 1. 6kN

TERH I
Lo AR R A T R 5 R B 2 ok R 2K
2. REAEST (L=0M) AFEAE SRR A A SR
3. Uiz B CATTE TS, 1502 S B LRI R SR .

mA_I'\H'

P S > Ee



B S P S B ot

e/ (R RSN BEIUVIIHEL  11010WR7)

4
3s L=25 ($=2.5) oL -
5 SO TR E
1010261W KENTHAK (KN F=(7.64 X P) / (L-16) N — 4 ﬁl}/}.)(
. R (N s [ ah v
B mE REBRL S s
AR BEL (mm) (L) 1=36.5 (5=14)
(Mpa) (kN)
L=25 L=30 L=36.5 L=40 L=50 L=60 L=80 L=100 (M) 25 %
7 3.8 27 | 23] 16| 30907 36.5 /
6 3.2 23 |20 a1 ]os]| os 32 2 p
5 2.7 28] 200 [ e 20906 05 27 L
4 2.2 3.4 22] 16 [1.3] 0907 05] 04 24 15 - L=50 (5=27.5)
3 1.6 26| 17| 12 [rolo7r]oe]oa]os 23 / . ]
2 1.1 L7l 1] os Jor]os]oa]os]oz2 23 1
1 0.6 0.9]o6] 04 Joalos]oz2]oz2]o1 23 ,f' 7 ) )
0.5 0.3 05]03] 02 02| 01]o01]01]o01 23 os 4 —] 7100055775
efdH)ES (MPa) | 4.5 5.8 7.0 | 7.0] 70| 70| 70] 7.0 ' J L]
44/
0
o 1 2 3 4 s 6 7
PRERIE (MPa)
1010301W FE A (kN F=(11.76 X P) / (L-18.5) 5 | | S JeF 2R
) 9 1 o
BAME RRBMY HRT) () BRI K 130 (5-4.5) / o I T
(Mpa) (kN) FRBLABEL (um) 92 4 Lt (I #843)
L=30 L=35 L=42 L=50 L=60 L=80 L=100 L=120 (M) . N 2 se165)
7 5.0 3.6 | 27|20 1.4 1.1]09 42 3 e / B e
6 1.3 3.0 |23 s 2ol or 36 i
5 3.6 3.6 206 Lo 15 o] os]|os 32 X LA
1 2.9 2.1]29] 201 | 15| t2]o08]o06] 05 28 pid L=60 (5=34.5)
e |
3 e 3122 16 {209 o6 0504 26 . i L
- 5 ' ' p L=120(5=94.5)
2 1.5 2.1 15| 1.1 Jos|oe]oa]os]os 26 / //////
1 0.8 L1fos] o6 Joalos]oz]oz2]oz2 26 1 —
0.5 0.4 0.6 04] 03 |o2]o0z]o1|orL] o1 26 0
BwfEfES) (pa) | 4.8 59 7.0 |70l 7070|7070 o 1 2 3 4 5 6 7

g s (MPa)

’ S 0 e
1010351W Je Bt AR kD F=(18.18 X P) / (L-21) 6 ) £
KBS kN 5 N AN f i
BHRME SRR FEARK L (um) ﬁﬁaﬁﬁ)ﬁ&& — s
(Mpa) (kN) 5 S
L=35 L=40 L=50 L=60 L=70 L=80 L=100 L=120 (M) e (50200
7 6.8 4.4 [33|26]22] 17|13 4 .
6 5.8 3.8 | 2.8 23|19 1.4] 1.2 43 /
5 4.9 48| 3.2 |24 19|16 1.2] 10 37 3 ¢
4 3.9 52139 206 | Lo s| 13| 10]o038 32 | =70 (s=a0)
3 2.9 39029 1.9 Jrafr2]10]07] 056 30 ) .
2 2.0 2.6 20| 1.3 | 1Lofos|o07]05] 04 30 / L
1 1.0 1.3 10| 07 [o5]04]04f[03]02 30 1 /12 // —1 =120 (5=90)
0.5 0.5 0.7/ 05[] 04 |o03][02]o02]o02]o1 30 A T
I fHES (MPa) | 4.8 5.7 70 | 70] 70| 70| 70] 70 0 =]

o 1 2 3 4 5 6 7
frehm s (MPa)



STARK

HYDRAULIC

% REas N B VAL H L

1010WZFI

12
1010451W RENHHAR (N F=(35.06 X P) / (L-24.5) ! (l) \}/
L=40 (S=5 -
JeEIT (kN) : 10 -
BEME RERME RAEERRL B ez
AR BEL (um) (L) ,
(Mpa) () .
L=40 L=50 L=56.5 L=80 L=100 L=120 L=140 L=160 () 8 .
7 .2 7.7 45|33 [26]22]| 19 /
6 9.6 8.3] 6.6 | 38| 28] 23] 19] 16 48 6 -
e
5 8.0 69| 5.5 [ 3224|1916 1.3 42 - /
4 6.4 9.1 55 44 [26| o] 15| 1.3] 1.1 37 4 .
3 4.8 6.8 42| 33 [ 19|14 12]|10]o038 35 i’ —
2 3.2 46]28] 2.2 [ 13| 1ol o8 |o07]o056 35 ) ’// |
L —
1 1.6 23] 1.4] 1.1 |o07]o05]04[04]0.3 35 7 —— L
AT 1+
0.5 0.8 .2]0o7] 06 [o4]o03]o02]o02]o02 35 0 =]
B fES (Pa) | 4.8 (6.3 7.0 [70] 7.0] 7.0] 7.0] 7.0 2 3 4 5 6
b (MPa)
18
\\
\\
16
N
L=50 (5=7.5) / NP
e = 1 7e
1010551W T E A (kN F=(64.14 X P) / (L-30) 4 TN
KEH kN /
BAME S REBM REESE S
EARAEL (nm) (L) ’
(Mpa) (kN) ,
L=60 L=67.5 L=80 L=100 L=120 L=140 L=160 (MM) /
7 16.7 120 | 9.0 6.5 | 5.0 | 4.1 | 3.5 10
6 14.3 129 10.3 | 7.7 55| 43|35/ 3.0 58 J/
5 11.9 16.1/10.7| 8.6 |6.5]| 4.6 [ 3.6 | 30] 25 51 8 K2
4 9.6 129/ 86| 6.9 |52]37[29]24] 20 45 ;
7’
3 7.2 9.716.5| 52 [39[28] 22| 18] 15 43 6 P
2 4.8 6.5 43| 35 [26]19] 151210 43 //' prd
1 2.4 3.3 22| 1.8 | 1.3 1.ofo08]06] 05 43 4 s
0.5 1.2 L7 11| 09 Jo7]|o05|04]03]03 43 ,/ 7 -+
BEffEEN (Pa) | 5063 7.0 | 7.0] 70| 70]70] 70 2 /
// //
0 =
1 2 3 4 5 6

Bt s (MPa)

Je R AR

AN A £ [
CEHRa)

L=56.5(5=21.5)

L=100 (S=65)

L=160 (S=125)

R P

Qi)

L=67.5 (S=25)

1=100(S=57.5)

L=160 (S=117.5)

mA_I'\H'

P S > Ee



mIJ-_\‘H'

FI 4P S a8

e/ (R RSN BEIUIIHEL  11010WR7

X IR [El%R 7101030 1W-COEAY R SRS

Nx
7B, .,
e ki 1 €
OFF % e Bl (Fff4f7) DA e
S AN iE: ] =
OJF & H:f Pl (Bffi5) DB
= d
g B 0 B .
a
|
B O O
OFF % H:f el (1) DA
2x M3 X 0.5 BAR6
A
S N
b 106
<
,\% 2-f5i a2
E- o
| ': >4 - L ‘L‘\_‘l
h 2
g;,/ 2-QAE
= » ]: [ S \ A
o ” = P1-@6
. SR O 41 () DC
A
N I OFF 34 Pl (B§45) DD THEFL
FEIIAH 0
iami | “Be——1 2 ° FA 0.1 JeEMINH AR A
x H D4-06
§ 2 =&, 5 !
BRI | i
PR T0651\075 L7l T N % §
p S — B
H ¢ S
9 =
o i —_ =
It b M (L) D £
i} J

[ B on LR

] 2 e LA I




STARK

HYDRAULIC

% REas N B VAL H L

1010 EITN 1 W-

SN R R B3BBG TR 3

1010WZ5I

FER

Bithe
[TA=PopaN
ERA

RIS S

Cinm )

o 1010261W—CLIE 1010301W-GIE 1010351W-GLIE 1010451W-GLIE 1010551W-GIE
2518 20.5 23.5 26 29.5 35
kREITEE 17.5 20.5 23 26.5 32
TEERR 3 3 3 3 3
A 92.5 103.5 110.5 124.5 145.5
B 54 61 69 81 94.5
® 45 51 60 70 85
D 40 48 55 65 75
E 59 64.5 65 70.5 78.5
F 34 36.5 37 40.5 41.5
G 25 28 28 30 37
H 31.5 35.5 39 46 52
J 22.5 25.5 30 35 42.5
K 34 40 47 55 63
L 72 81 88 106 116
M 1 12 12 13 16
Nx 26 30 33.5 39.5 45
Ny 9 11 12 15 16
P 3 3 3 5 5
Q 9 9 1 11 14
R 5.5 5.5 6.8 6.8 9
S 15 16 13.5 16 17.5
T 30.5 35 37.5 45 55
U 12 14 16 20 22
v 25 29 31.5 37 45
W 30.5 34.5 35.5 39 48
X 22 26 30 35.5 43.5
Y 13 13 16 19 25
z 21 24 28 37 40
Fifa1 c3 c3 c3 c4 c10
Blfg2 c3 c3 c3 c5 c5
AA 16 18.5 21 24.5 30
AB 77.7 92.4 101.9 11. 4 130.8
AC 50. 2 61.2 71.7 78.7 90.8
AD 6 6 6 8 10
AE 6 6 8 10 12
AG 20.2 18.9 19.9 20.5 21.4
BA 31.6 38 43 54 64
BB 0 0 0 0 30
BC R10.5 R10.5 R10.5 - -
BD 30 30 30 30 22.5
BE - - - 5 5
EA M5 0. 8 M5X 0.8 M6 M6 M8
FA 40.8 49 56 66 76
FB 4030.039 48;0'039 5530.046 650+0.046 7530.046
FC 1.2 1.2 1.5 1.5 1.5
FD 40.6 48.6 55. 6 65.6 75.6
FE 30 32 30 30 30
FE 34.5 37 37.5 41 42
JA 3.5 3.5 3.5 4.5 4.5
JB 14 14 14 19 19
[l 3
%ggﬁgg ggﬁ G1/8 61/8 61/8 G1/4 G1/4
DA OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P7-N | OR NBR-90 P7-N
DB AS568-007 (90) OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P7-N | OR NBR-90 P7-N
ORI DC 815 AS568-031 (70) AS568-034 (70) AS568-037 (70) AS568-040 (70)
(AEX%R)
DD AS568-028 (70) AS568-031 (70) AS568-033 (70) AS568-036 (70) AS568-039 (70)

mA_I'\H'

P S > Ee



nlA'—F_

FI 4P S a8

STARK

HYDRAULIC

& REas N B VAL H L

SMERST (REZMETHIAED

X KB F1010301W-CCHAY J2 IR TS o

RGO i
OfEHE D DA
i) 0 T~
O HE (W) 0B @) 0 | @ O
N
=
1 |
|
B Q Q9 O

O (Hafr) DA

(A

AA

2-f81ffj2

WL

G GRS 1 GHRZL
] R P I

i

W0.1

%

AB

OJF 4 6]ttt

O 1] (P

ffiosaroTaL

iLeq

) DC

) DD

1010WZ5I

RIEBALM TR~

EEVL I

@EC H8




STARK

HYDRAULIC

% REas N B VAL H L

1010WZFI

L R

1010 EN 1 W- [« & [7] B avas
R A ER5E
B #rimse

SN R RBZREBALM TR 3

Cmm)

mA_I'\H'

P S > Ee

B 1010261W—CCJH  1010301W-CCIH  1010351W—CCIH  1010451W—CCIH  1010551W-CCIH
25718 20.5 23.5 26 29.5 35
FEITIE 17.5 20.5 23 26.5 32
iTiES&R 3 3 3 3 3
A 88.5 99.5 109 124.5 145.5
B 54 61 69 81 94.5
® 45 51 60 70 85
D 40 48 55 65 75
E 55 60.5 63.5 70.5 78.5
F 30 32.5 35.5 40.5 41.5
G 25 28 28 30 37
H 31.5 35.5 39 46 52
J 22.5 25.5 30 35 42.5
K 34 40 47 55 63
L 72 81 88 106 116
M 1 12 12 13 16
Nx 26 30 33.5 39.5 45
Ny 9 1 12 15 16
P 3 3 3 5 5
Q 9 9 1 1 14
R 5.5 5.5 6.8 6.8 9
S 15 16 13.5 16 17.5
T 30.5 35 37.5 45 55
U 12 14 16 20 22
v 25 29 31.5 37 45
W 30.5 34.5 35.5 39 48
X 22 26 30 35.5 43.5
Y 13 13 16 19 25
z 21 24 28 37 40
Eifa1 c3 c3 c3 c4 c10
Elfa2 c3 c3 c3 c5 c5
AA 16 18.5 21 24.5 30
AB 77.7 92.4 101.9 111.4 130.8
AC 50. 2 61.2 71.7 78.7 90.8
AD 6 6 6 8 10
AE 6 6 8 10 12
AG 20.2 18.9 19.9 20.5 21.4
EA M5 X0. 8 M5X0. 8 M6 M6 M8
EB 40.8 49 56 66 76
EC 4_0(1]»0.039 4830.039 553—0.046 6530'046 7530.046
ED 1.2 1.2 1.5 1.5 1.5
EE 30.5 33 36 41 42
JA 3.5 3.5 3.5 4.5 4.5
JB 14 14 14 19 19
ﬁﬁgﬁﬁg ggg G1/8 G1/8 G1/8 G1/4 G1/4
DA OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P7-N | OR NBR-90 P7-N
DB AS568-007(90) | OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P7-N | OR NBR-90 P7-N
0 ELIE DC 3Bx1.5 AS568-031 (70) AS568-034 (70) AS568-037 (70) AS568-040 (70)
(REXE%R)
DD AS568-028 (70) AS568-031 (70) AS568-033 (70) AS568-036 (70) AS568-039 (70)




nlA'—F_

FI 4P S a8

STARK

HYDRAULIC

% REas N B VAL H L

{ETRIAEY)

X AREFER1010301W-CCIHY R KT .

e st 1

O P (I DA

AR
i S
&
4 7 (7
ﬁﬁ 1-¢AD 2
= \
/ [
2
o § o -
= c/ - =
o
2-@AE
. 3
< A [ 2
| | |
o
N T
O &R (Fftir) DC
| B =
5
.
=
JA B

2-GURETHE I
e SR ks (. GBI
CRJ 223 s 1)

JEAR D7 (LA

4-@R
Lo EERT

JERRT T (RED

JERRTT ] (CRD

1010WZFI

RO TR

O
=
4
BEUHB LR O E#TJ
&
=
o
5
_\_{
=
2
=
i)
)
g:  oRc 18 \ A
HEARTHBCE T N\ Il
D4-P6 %
o
: =
LA EEN
_\_{
=
&5




e/ (R RSN BEIUIIHEL  11010WR7

A SRR

FhR<T
BithRe
BREsR
R
1R S

1010 ETN 1 W-

(mm)

1010261W—-CL1J 1010301W-CL1J 1010351W-C[1J 1010451W-C1J 1010551W-CL1J

2718 20.5 23.5 26 29.5 35
REFE 17.5 205 23 265 32
TREE 3 3 3 3 3

A 84.5 95 104 1215 144 5
B 54 o1 9 81 94.5
c 4 51 60 70 85
D 40 ) 55 65 75
E 51 56 58.5 675 7.5
F 26 28 30.5 37.5 405
G 25 28 28 30 37
H 31.5 35.5 39 46 52
J 2.5 255 30 35 4.5
K 34 40 47 55 63
L 7 81 88 106 116
" 1 12 12 13 16
Nx 26 30 33.5 39.5 45
Ny 9 11 12 15 16
P 3 3 3 5 5
Q 9 9 11 1 14
R 5.5 5.5 6.8 6.8 9
S 15 16 13.5 16 17.5
T 30.5 35 37.5 45 55
U 12 14 16 20 2
v % 29 31.5 37 45
W 30.5 34.5 35.5 39 48
X 2 26 30 35.5 435
Y 13 13 16 19 25
Z 2 2 28 37 40
B c3 c3 c3 c4 ¢10
B2 c3 c3 c3 c5 c5
AA 16 18.5 21 245 30
AB 7.7 924 101.9 111.4 130. 8
AC 50. 2 1.2 7.7 78.7 90.8
AD 6 6 6 8 10
AE 6 6 8 10 12
AG 20.2 18.9 19.9 205 0.4
BA 3.6 38 43 54 64
BB 0 0 0 0 30
BD 30 30 30 30 2.5
BE 4.5 4.5 4.5 5 5
EA W5 % 0. 8 M5 X 0. 8 M6 M6 W8
EB 408 29 56 66 76
Ec 4030.039 4830.039 558—0.046 653—0.046 7530.046
ED 12 12 15 15 15
EE 12 14 16.5 23 2.5
EF 17.5 19.5 2 2.5 30
EG 265 285 31 38 41
JA 3.5 3.5 3.5 4.5 4.5
JB 14 14 14 19 19
1 3
ﬁggﬁgg gﬁg G1/8 G1/8 G1/8 G1/4 G1/4
DA OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P5-N | OR NBR-90 P7-N | OR NBR-90 P7-N
OBITEHE DB 3815 AS568-031(70) | AS568-034(70) | AS568-037(70) | AS568-040(70)
(HEXZRE)
DC AS568-028 (70) | AS568-031(70) | AS568-033(70) | AS568-036(70) | AS568-039 (70)

mA_I'\H'

P S > Ee



m?'_

P S S

11

STARK

HYDRAULIC

FEAR B

T REas N B VAL H L

X Bt ERA S % .

TR NES

1010 I 1 W-

C

€& T

FHRRT
N A+0.02 QE H7
III
el =
JER [ R i N T .
N (5 :
| |
- N =
.
Sal |
Lo
K @D H7
i | | | i
: | | | :
1 A i o
| . ! i
L] L

EMRRHRT B ER

1010WZ5I

(mm)
X RHLEER S 1010261W-C1J 1010301W—-c1] 1010351W—C[1[J 1010451W-c1J 1010551W-C1J
A 16 18.5 21 24.5 30
B 14 16 20 25 32
¢ 12%, 122, 1625 1994 22°,,
D 630.012 60+0'012 630.012 830.012 1030.015
E 630'012 630'012 80+o.012 103(1015 1230.015
F 6 6 8 10 11
G 11.5 13 12.5 16 20
H R3 R3 R4 R5 R5.5
J 12 13 13 17.5 22
K R5.5 R6 R6 R8 R10
L 5.5 6 6 8 10
M 2.5 3.5 6 7.5 9.5
N 5.5 6 6 8 10
P (GRRXRE) X1 M3 X 0. 5i@ M3 X 0. 5i% M3X0.5X6 M4 X 0. 738 M4 X0.7X7

VRS

LT, 952 R RE T 2 P e AR KL

2. Yt I T AR i 20 R P e i RV, 5 WS T el A A, R T e L T

R SIEASIE R .



	组合
	01
	02
	03
	04
	05
	06
	07
	08
	09
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21



 
 
    
   HistoryItem_V1
   InsertBlanks
        
     位置： 当前页之后
     页数： 1
     页面大小： 与当前相同
      

        
     Blanks
     Always
     Odd
     1
     1
     1
     -1198
     271
    
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     2
            
       CurrentAVDoc
          

     SameAsCur
     AfterCur
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

 HistoryList_V1
 qi2base





